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FINANCIAL MANAGEMENT-I (Elective)

Time : 3 Hours Max. Marks : 70

PART-A
AT )

Answer any two questions. 20 marks each.
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Q1) Explain the sources of long term finances.
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Q2) Pranav Co. 1.td.. is considering an investment proposal of a new machinery
costing Rs. 20.00.000. The estimated life of the machinery is 3 yrs. & has no
salvage value. Assume the corporate tax rate is 30%. The estimated cash
inflows before depreciation & tax are as follows :

Year inflows before de ion & tax
01 Rs. 5.50.000
02 Rs. 6.00.000
03 Rs.6.50.000
04 Rs. 8.00.000
05 Rs. 11.00.000

PTO.
https://www.uomonline.com



30669

M-498

The company adopts straight line method of depreciation for tax purpose.

Calculate :

a) Pay back period.

b) ARR

¢) NPV at 12% discount rate.

d) Profitability Index.

[Note : The PV factors for Rs. 1 at 12% for 1 to 5 years are 0.893, 0.797,

0.712,0.636 and 0.567 respectively]|
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01 . 5,50,000
02 dw. 6,00,000
03 gwe. 6,50,000
04 c%. 8,00,000
05 gwe. 11,00,000
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o3)

Q4)

Following are the details of three companies.
AColtd., B Co Ltd., C Co lid.,
R 15% 10% 8%
K 10% 10% 10%
E () 200 200 200

Calculate the effect of dividend payout on the price of equity shares of each
of the above companies in the following different situations under Gordon's
view on optimum dividend policy if /P ratio (1-b) are :

a) 40% b) 60% c) 70% d) 90%

83 FIYBOLE ATOMEL BT FoTINSN O ORATNTIE.
A BC e, B sc &e. C8o &s.

R Be.15 e 10 Be.8

K Be. 10 e 10 Je. 10

E (%) 200 200 200

VOB LOTNTOT ToLTR0Y ToTI0WD Jedh WBHoDd e LoD TS
TOFRID[W, Needr & 00 GHerd DL =0 e0TF wogRos TSP,
B FUTOE TOoTEFNORTU=eN 5o LBCDD.

CATVOE OIS TZecE (1-b)

Q) 3Be. 40
) e, 60
%) Be. 70
a) 3e 90

The tollowing is the capital structure of a company. Determine weighted average
cost of capital [WACC].
T
Equity share capital 20.00.000
Debentures 12,00.000
Preference share capital 2.00.000
40.00.000

External financial informations :

a)  Equity shares - Selling price is Rs. 120/ Share & floating cost is Rs. 8 Per
share. The expected growth rate is 7% per annum and dividend at the
end of current yr. is Rs. 11 per share.

b) Debentures - 15 years 14% debentures of Rs. 1.000 each face value
redeemable at 5% premium, sold at par and floation cost is 3%.

¢) Preference shares - 7 years, 12% preference shares of Rs. 100 each. sold
at par, redeemable ‘@ 5% premium. 2% floation cost. The corporate tax

rate i1s 35%.
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Answer any two questions. 10 marks each.

CRYTRTUR ST TFACH 30N, Ik 10 £OBL0.

(35) Discuss the objectives of financial management.
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@6) Chiranth Co. has Net operating income of Rs. 2,00,000 on an investment of
Rs. 10.00,000 in assets. It can raise debt at 16% rate of interest. Assume that
taxes do not exist.

a) Using the NI approach and an equity capitalisation rate of 18%. compute
the total value of the firm and the overall cost of capital. if the firm has

i) No debt.
i) Rs. 3.00.000 debt.
i) Rs. 6.00,000 debt.

b) Using NOI approach and an overall capitalisation rate of 12% compute
the total value of the firm and the cost of equity., if the firm has

1) No debt.
) Rs. 3.00,000 debt.
iii) Rs. 6,00,000 debt.
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Q7) The capital structure of a company consists of equity share capital of Rs.
20.00.000 shares of Rs. 100 each. Rs. 20.00.000 9% debentures. At present
the company is manufacturing & selling 2.00,000 units at Rs. 15 per unit. The
variable cost being Rs. 7 per unit and the total fixed cost being Rs. 7,80.000.
The tax rate is 30%. You are required to calculate :

a) [Financial leverage.

b) Operating leverage.

¢} Combined leverage.

d) ROE.

2O FOTROWL WOBWMY Wi IY Tr. 20,00,000 ouPT, S WORTIoY
T3 Jeon on. 100 Tod :n“é:. G, 2000000 Ze 9 O mUTIIWR,
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Q8) Shubha Co. has EBIT of Rs. 48,00,000. Its capital structure consists of the
following securities :

Particulars Amount

4
Equity share capital (Rs.100 each) 1,00,00.000
12% preference share capital 60,00.000
15% debentures 40,00,000

The company facing fluctuation in sales what would be the changes in EPS?
a) If EBIT of the Co. increased by 25%

b) If EBIT of the Co. decreased by 25%

The corporate tax rate is 40%.
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Answer any two questions. 5 marks each.
QRYTTCR QT IBFAYR «v3d. 3T § SoBrsb.

09) Write a note on Time Value of Money.
TRT AVORT :ﬁ‘-*"’ ATy “*‘r‘ Atelovviel

Q10)The EPS of Chidanand Co. Ltd., is Rs. 20. Its rate of return (r) & cost of

capital (k) are 12% & 10% respectively. The dividend payout ratio is 25%.
Compute the price of equity share under walter model.
Uoedes 80, O QACHALIT ot IedT nedod dr. 20 tﬁﬁ&‘:&d (Clate
URCD T (1) WF, WOBY Fg (k) IWIA Be. 12 WS, Ee, 10
SNIT.  TgReY BS0D oBTTIY Je. 25 T2 I, ¢ a:éc" o=T
z;uauaw 4. ple -Jvﬁ.»a?% e 2323&‘1:‘:2: O &:&m&

QI1)Write a note on NPV.
....,-.QS -:J:“r‘ EAVOLD Eﬁ &.‘i"i é.!“"f-‘? 200200,

Q12)What do you mean by optimum capital structure?
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